Part II
[image: Image result for Gateways school]
Marking Scheme

Probability Part two






Q1.
 
[image: ]
 
Q2.

[image: ]
Q3.
 
[image: ]
 


Q4.
 
[image: ]




Q5.
 
[image: ]
 


Q6.

[image: ]




Q7.
 
[image: ]
[image: ]
 


Q8.

[image: ]




Q9.
 
[image: ]


Q10.

[image: ]




Q11.
 
[image: ]
 


Q12.

[image: ]




Q13.

[image: ]


Q14.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Question| Answer | Mark | Notes
] M
7295 | 2 | Al accept0.167 or better

®

M1 1 correct branch

M1 4 correct branches with intention to
add

Al accept0.389 or better

NB: Use of this method can score all
available M marks, but cannot score the
Accuracy (A) mark.

M1

M1

Total 5 marks
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| Question Working Answer | Mark Nates
04,09, B2 Allcomrect
@ 0307 | 2 (BI for any one correct)
appropriate
places
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Q Answer | Mark Notes
@) 2 | Ml or probability uf% clearly
associated with box Y
(eg may be on tree diagram or
by box)
7
%= o Al
T2 1.3
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M1 for sum of both products
L oe
= Al
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Question. ‘Working Answer | Mark Notes
Scheme1 P(LL)+P(L, NL)+ BusL=007; BusN 3
P(NL, L) BikeL =0.015; BikeNL = 0.285

correct products may be seen
instead of these values

T=0.1(=0.9) or 1 - 0.05 (0.95) M

or 1-07 (=0.3)

Plaot late for work) M1 or at least 4 correct products

=0.7:0.9+0.3x0.95 (= 0915 or from

183 (addition not needed)

300 0,072 +2x0.0750.63 +
2500750015+
2x0.07%0.285+ 2x0.63x0.015+
0.015 +2x0.015%0.285

Pllate for work) M1 or at least § correct products

=0.7+0.1+0.3x0.05 (= 0.085 or from (addition not needed)

17 0,07 +2x0.07x0.63 +

200 ) OR 2x0.07%0.015+

1--0915" (=0.085) 2x0.07x0 285+ 2x0.63%0.015+
0.015° +2x0.015%0.285

Pllate on at least one day) M1 or all 12 correct products with

dep  addition

=2 "0.085"x"0.915" + 0,07 +2x0.07x0.63 +

"0.085"x"0.08; 2500750015+
2x0.07%0.285+ 2x0.63x0.015+
0.015 +2x0.015%0.285

0162775 5 |Al
or
6511
40000
o

Total 5 marks
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Question. ‘Working Answer | Mark Notes.
Scheme2 1- P(NLNL) BusNL=0.63
BikeNL = 0285
correct products may be
seen instead of these
values
T-01(=09)or 1-005(=095) or - MI
07 (=
Plaot ate for work) MI or any two comrect
183 ‘products from
=0.7%09+03x095 (= 0.915 or 200 ) (addition not needed)
0,63 +0285
2+0.63x0.285
M or all correct products
Pluot late both days) dep (addition not needed)
063°+0285 +
="0915" "0.915" (= 0.83 06330285
(=0.3969 +0.081225+
2+0.17955 = 0.837225)
P(late on at least one day) MI
dep
"0.837225"= 0.162775
01275 5 Al
or
6511
40000
oe

Total 5 marks
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| Question | Working Answer Mark Notes
@ 0.3 in first fal branch, Bl
08,02 in second attempt Bl Branches must be labelled. Ignore extra
pass. fail branches | 2 branches leading from “pass”
[0 “037x08 Mift
0240e| 2 |A1
© | (03 x02%08 ~(03x MR MIft for 03" x 02" x 0.8 (=0.048)
02X 02%08) oe 0r0.3"x 0.2 x 0.2 x 0.8 (<0.0096)
005760e| 3 | Al Accept36i625

L
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‘Question

Working

Answer

Mark

Notes

@

10739

M

08 o
1560 136

AT

“Aflow answer as decimal
(0.4166.) or percentage

(41.66..%) rounded o truncated

103 or more sig figs; only
accept 0.42 (42%) i preceded.
by more accurate answer or M1

awarded.

®

10
07399003

30739 a0 0
ST I I I A
3073872073730 009 0

7

Award
M for
any

correct
product
(shown
worked

out)

SC Award M2 for

or <5 or 01 006
MI for one product

73

1560 ~ 780

05807+

Y

“Allow answer as decimal

(0.05897.

) or percentage

(5.897.%) rounded o truncated
103 or more sig figs; only

accept 0.059 (5.9%) if preceded
by more accurate answer or M2

awarded.

Total 5 marks
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Question Working Ans [ Mark Notes
@@® |008-025 PR
033| ° [(Al oeeg accept33/100 0331
@@ |1-0.08—0.1 or 1-(025+01+008)+025 MI fi if their answer fo @) 5
0r0.57+0.25 or (1-("0.33"+0.1) +025 0<@®-<1
2[4 o ceaccept 827100
082 R for 0 < apswer < 1
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Note: MIAO for 12/60
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‘Question ‘Working. Answer Notes
@ [1-04-02-01cr03 3 [
1-04-02-0.1  "03" M1 dep
2
0.15 Al
®) [ 200x04 2 |1
80 Al Note:

Award M1A1 for 80 out of
200
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‘Question Notes
@0 M1
A1 ACCeptauswer written as an equivalent fraction
0r035 or 35%
SO | (e b
@) 2 for — witha>9 or — withb <20 or 9 and
a 2
20 used with incorrect notation (eg. 9 : 20)
e AT accept answer written as an equivalent fraction
n or 0.45 or 45%
2] 55%35 oc and no 2 | M scMmifor 2xt
202 2019
other terms
T A1 ACCept answer written as an equivaleat fraction
0
@ s |m
M
6 o AT accept answer written as an equivalent fraction
0

eg £ or0280r20%
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Q Working Answer | Mark Notes
@ | Black circle =03 BIBI

White region =0.6 3 |Bif

All values Allow ftif each group of 3 branches

“comect” for on second amow all sum tol

second shot consistent with first arrow branches
®) | Any one comect Mift

productin c.g. (Black, Miss) or (Miss, Black) or

mmerical form (White, White)

g (0.3°x0.1)

or

(0.1x%03" or 0420¢| 3

06" x"0.6")

(03" 0.1)+
0.1x 0.3 +
(06" x"0.67)

Mift
3 “comect” products with intention to
add

Al cao

Total 6 marks
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|Question] ‘Working Answer | Mark| Notes

1VSY  (1¥(5) M2 Accept use of 0.16(666._) in place
4[3) 5) +6[g) [g) + of +and 0.83(3333..) in place of
h . rounded or truncated to at least 2
4 1) (5%(1) decimal places.
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P(no sixes) = (z)‘

@ @0-0~0)
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Ques Answer | Mark Notes
a 3 |MIfor one correct product
M1 for both correct products (and no others)
“ added
30
Aloe (5504 0r 0.55)
b 2 [MI Correct product
132 Aloe  Accept 0.43(137...) rounded or truncated to
306 atleast 2SF
Total 5 marks
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Worl [Answer| Mark Notes
Number
@ paxoior 2 M1
(1-0.7) x 0.1 and no
other terms
0.03 of AL
® |07 x08or 07X 3 |MI[MIfor (@) + 0.7 X 0.2 oF
- 0.2) or
0.3 0.9 or (1 - 0.7) 0.3 x0.1+0.7 x0.2
x (1-0.1) (=0.17) or
(1-07)x01+07x02
07 x08+03x09 MI|MIfor 1- ((a) + 0.7 X
or 0.2)
0.7 x (1-0.2) + (1 -
0.7) x (1 - 0.1) or 1-"0.17"
M2 for 1- "(a)" - 0.7 x
0.2)
0.83 of AL

Total 5 marks|
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Q ‘Working Answer | Mark Notes
0) 02,065 2 | Boe | BI for any 2 correct probabilities (in
0.35.04,06 correct position)

© MI | fifrom(a) | M2 ft from (a) for
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MI for 1 - (0.8%°0.65)
or 1-(10.2°x°0.67)

08x 7035 =02 MI | fi from (a)
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3 9
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Question Answer  [Mark Notes
Number
@ & 2 | m
50 A1
()| 22 0e and no other 2 | M
05
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20 05McS, method
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correct
answer;
otherwise no
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Answer

Notes

@

Correct probabilities

Bl
Blft

For 0.6 on LHS branch
For all other
probabilities correct

®)

035+ 005%035+
0.05 % 0.05 x 035 0e.
(=0.35+0.0175+
0.000875)

0.368375
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£ from tree diagram
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0.052% 035 0e

o 2997
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Accept 0.36(8375)
rounded or truncated fo
at least 2 SE

oe
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